
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Monday
,
2/5-Q

More on proofs.

Part T : A = B .

Let A and B be sets. To say
A = B is to

Scal
A <B and BE A

which is to say
x E A => XEB and xEB =Y xEA
which is to say

x -A <Y x E B .

So an A-Boroof is a kind of PXxQ proof.I
Template :
Theorem .

A = B .
Proof
1 Let xe A . [Do stuff toget to :] therefore,
x c B . So A fB.

2) Next, let xEB . [Do stuff toget to : ]
Therefore, XEA . So BEA .

So B =
.

#

Example :

Theorem.
For any sets X, Y, and z,,

Xn(Yuz) = (XnY)v(Xu 2)
.

Proof.



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


